
www.band-it- idex.com 800.525.0758

Toll Free: (800) 525-0758    •    Phone: (303) 320-4555    •    Fax: (303) 333-6549    •    E-mail: info.BAND-IT@IDEXCorp.com
Product offerings and specifications may change. Visit https://www.band-it-idex.com/ for the latest information.

Toll Free: (800) 525-0758    •    Phone: (303) 320-4555    •    Fax: (303) 333-6549    •    E-mail: info.BAND-IT@IDEXCorp.com
Product offerings and specifications may change. Visit https://www.band-it-idex.com/ for the latest information.28

Product Solutions Guide

Mounting Hardware
Engineered to achieve a strong and secure grip on all components, provides superior corrosion resistance, 
and will sustain the hold in high vibration environments while keeping the support system compact.•	•  Specially designed reinforced SIGNFIX® Channel extrusions    •	•  Convenient attachement methods•	•  Hex head bolts with metal and fiber washer, no nuts required•	•  Applied with BAND-IT® banding products•	•  Banding size may vary depending on application. Please contact your BAND-IT® representative for 

further details

Bolt/Clamp Mounting 
Bracket

Mount Plate Mount Plate - 
Narrow Back

Part No. Material Description
Package 
Quantity

Package 
Weight

Lbs Kg
Bolt / Clamp
D50089 Aluminum* Bolt/clamp. Use with maximum 3/4" width band. 50/Box 23.7 10.8
D50489 Aluminum* Bolt/clamp. Use with maximum 1-1/4" width band. 25/Box 33.0 15.0

Mounting Bracket
D51089 Aluminum 1-1/2" (38.1 mm) x 4-3/4" (120.7 mm) with a 2" long 5/8" plated bolt. 25/Box 14.9 6.8
D51289 Aluminum 1-1/2" (38.1 mm) x 5-1/4" (133.3 mm) with a 2" long 5/8" plated bolt. 25/Box 21.0 9.5
D51389 Aluminum 1-1/2” (38.1 mm) x 5-1/4” (133.3 mm) with a 3” long 5/8” plated bolt. 25/Box 21.0 9.5

Mount Plate
D04099 Aluminum Mount Plate, 1-1/2" NPT 25/Box 19.4 8.8

*Bolt is a plated carriage bolt

Mounting Bracket Slots: accepts a double wrap of .044” x 1-1/4” BAND-IT Band.



www.band-it- idex.com 800.525.0758

Toll Free: (800) 525-0758    •    Phone: (303) 320-4555    •    Fax: (303) 333-6549    •    E-mail: info.BAND-IT@IDEXCorp.com
Product offerings and specifications may change. Visit https://www.band-it-idex.com/ for the latest information. 29

Product Solutions Guide

Part No. Material Description
Package 
Quantity

Package 
Weight

Lbs Kg
Mounting Brackets

D00189 200/300SS Single bolt straight leg, bracket with 304SS bolt, washer and fiber washer. 3/4" slot. 50/Box 7.0 3.2
D00299 200/300SS 5/6"-18x3/4" hex head SS Bolt, SS washer and fiber washer. 50/Box 1.3 0.6
D00499 200/300SS Single bolt straight leg, bracket only. 3/4" slot. 50/Box 5.6 2.6
D00799 200/300SS L-Mount, right angle bracket 50/Box 4.4 2.0
D00889 200/300SS 2 bolt straight leg, bracket with SS washer and fiber washer. 3/4" slot. 50/Box 9.2 4.2
D00999 200/300SS 2 bolt straight leg, bracket only 3/4" slot. 50/Box 7.1 3.2
D02189 200/300SS Single bolt flared leg, bracket with SS bolt, SS washer and fiber washer. 3/4" slot. 50/Box 7.0 3.2
D02299 200/300SS Single bolt flared leg, bracket only. 3/4" slot. 50/Box 5.5 2.5
D30288 200/300SS 5/16"-24 x 1/2" Hex Head SS bolt, washer and fiber washer. 50/Box 1.0 0.5
D31099 200/300SS Flared leg mini-bracket with 304SS bolt and fiber washer. 1/2" slot. 50/Box 3.0 1.3
D31599 200/300SS Straight leg mini-bracket with 304SS bolt and fiber washer. 1/2” slot. 50/Box 3.0 1.3

Mounting Brackets
Used to mount traffic signs, security devices, and enclosures. Designed to withstand wind vibration with reinforced 
ribs, and applied with BAND-IT® Band and Buckles, VALU-STRAPTM , VALU-STRAP PLUSTM, BANDFAST®, or the 
ULTRA-LOK® Systems.

D31099 Flared Leg Mini-Brack-It

D31599 Straight Leg Mini-Brack-It

D02189 Single Bolt Flared Leg

D00189 Single Bolt Straight Leg

D00889 2 Bolt Straight Leg

D00799 L-Mount Right Angle Brack-It


